

The number of ①deer is increasing in many parts of Japan.  ②As a result, they are ③damaging more and more trees and rare mountain plants.      ④(　　　) they eat crops too, they are a big problem to farmers ⑤as well.

Why do deer keep ⑥(increase)?  One reason may be ⑦the disappearance of wolves.  When Japanese wolves were ⑧alive, they were at the top of a food chain.  But they sometimes attacked ⑨farm animals, so they were hunted ⑩one after another.  The ⑪last wolf was killed ⑫at the (　　　) of the 20th century.  With no natural enemies, ⑬it was easy for deer to increase rapidly.
① deer「シカ（複数形）」　次の語の複数形を書きなさい。
　　　　　　 （←woman：女性）
　　　　　　 （←life：生命，人生）

　　　　　　 （←foot：足）★

　　　　　　 （←sheep：ヒツジ）★
② as a result「　　　　　　　　」
③ damaging　アクセントの位置が異なるものを選び，記号で答えなさい。　（　　　）
da-mage（ア break-fast　　イ ho-tel　　ウ ra-cket　　エ sand-wich）

④ 空所に適するものを選びなさい。　　（　　　）
ア　By the way　　イ Though　　ウ As soon as　　エ Since
⑤ as well　同じ意味の語を本文中から抜き出しなさい。
　　　　　　
⑥ （　　）内の語を適する形にしなさい。
　　　　　　
⑦ the disappearance of wolves　オオカミが消えた理由を書きなさい。
　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　

⑧ alive「生きている」⇔ 　　　　　　「死んでいる」
⑨ farm animals　家畜の動物をなるべく多く書きなさい。辞書を使ってもかまいません。

　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　

⑩ one after another「　　　　　　　　」

⑪ last「最後の」⇔ 　　　　　　
⑫ 下線部が「20世紀の初頭に」という意味になるように空所に適する語を書きなさい。
　　　　　　
⑬ it　このitと同じ働きをしているものを選び，記号で答えなさい。　　（　　　）

ア My sister passed the exam.  It made me happy.
イ I like cycling.  It is fun to ride a bike.
ウ I read a book yesterday.  It was interesting to me.

次の各文が本文の内容と合っていればTを，合っていなければFを書きなさい。

(a)  Deer are kept as farm animals, but they are damaging crops.
（　　　）

(b)  Japanese wolves were alive in the 19th century.
（　　　）

(c)  Deer increased rapidly because they were natural enemies of wolves. 
（　　　）
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But what is a ①food chain?  Plants grow by ②getting nutrition from the ground.  Then, they are eaten by ③plant-eating animals.  Next, plant-eating animals fall ④prey to ⑤meat eaters.  When meat eaters die, their ⑥bodies rot and go back to the ground.  There, they are decomposed by bacteria and become food for ⑦(　　　).  This biological circle is called a food chain.

A food chain ⑧consists of several layers.  The picture below shows that they form the shape of a ⑨pyramid.  Stronger ⑩species form smaller groups, and they are placed higher in the pyramid.  ⑪Wolves were the strongest in their food chain, so they were placed at the top.
① food chain　どのようなものか簡単に説明しなさい。
　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　
　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　
② getting　次の語の-ing形を書きなさい。
　　　　　　 （←see：見る，会う）
　　　　　　 （←ski：スキーをする）

　　　　　　 （←drop：落ちる）
　　　　　　 （←lie：横になる）★

③ plant-eating animals
　該当する動物をなるべく多く書きなさい。辞書を使ってもかまいません。
　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　
④ prey （　　　）詞「　　　　　　　　」

⑤ meat eaters　該当する動物をなるべく多く書きなさい。辞書を使ってもかまいません。
　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　
⑥ bodies　このbodies（body）と同じ意味のものを選び，記号で答えなさい。　　（　　　）
ア Sports build strong bodies.
イ Her dog was killed in a fire, and its body was never found.
ウ He finished writing the body of a speech.
⑦ 空所に適する語を書きなさい。

　　　　　　
⑧ consist of ～ 「　　　　　　　　」

⑨ pyramid　アクセントの位置が同じものを選び，記号で答えなさい。　（　　　）
pyr-a-mid（ア im-mi-grant　　イ gui-tar-ist　　ウ mu-se-um　　エ vol-un-teer）

⑩ species　下線部の発音が異なるものを選び，記号で答えなさい。　（　　　）
species（ア police　　イ agree　　ウ immediately　　エ sweater）

⑪ Wolves were the strongest in their food chain.
＝　　　　　　 animals were 　　　　　　 than wolves in their food chain.


次の各文が本文の内容と合っていればTを，合っていなければFを書きなさい。

(a)  Bacteria belong to a food chain, and they become food for plants.
（　　　）
(b)  The number of plant-eating animals are larger than that of meat-eaters.
（　　　）

(c)  Meat eaters are placed higher than plants in a food chain.
（　　　）
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①A great number of species are living in the world.  ②In order to survive, they must belong to a stable food chain.  For a food chain ③to be stable, it must ④keep layers of species.  If a species ⑤disappears, the food chain breaks, and this ⑥can cause ⑦serious problems.

We humans belong to a food chain, too.  According to one ⑧scientist, three hundred ⑨trout are needed to support one human for a year.  The trout must consume ⑩90,000 frogs.  The frogs must eat 27 million grasshoppers, and the grasshoppers require 1,000 tons of grass.  Imagine what will happen to us if all grass disappears.  ⑪Let’s discuss how to maintain our food chain.
① a great number of ～ 「　　　　　　　　」
⇔ a 　　　　　　 number of ～
② in order to do「　　　　　　　　」
I studied hard in order to pass the exam.
＝I studied hard 　　　　　　 　　　　　　 I 　　　　　　 pass the exam.　★
③ to be　この不定詞と同じ意味で使われているものを選び，記号で答えなさい。　（　　　）

ア There are many things for students to learn.
イ It is hard for me to get up early.
ウ He stopped his car for a girl to cross the street.
④ keep　同じ意味の語を本文中から抜き出しなさい。
　　　　　　
⑤ disappear(s)　名詞形を書きなさい
　　　　　　
⑥ can　このcanと同じ意味のものを選び，記号で答えなさい。　　（　　　）
ア The news can be true.
イ You can use this telephone.
ウ Can you tell the difference?
⑦ serious problems　どのような問題なのか考えて書きなさい。
　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　
⑧ scientist（←science：科学）　同じ関係になる語を書きなさい。
　　　　　　 （←piano：ピアノ）
　　　　　　 （←drum：ドラム）

　　　　　　 （←visit：訪問）
　　　　　　 （←law：法律）★

⑨ trout　下線部の発音が同じものを選び，記号で答えなさい。　（　　　）
trout（ア flower　　イ soda　　ウ enough　　エ airport）

⑩ 90,000　英単語で表しなさい。
　　　　　　 　　　　　　
⑪ Let’s ～.　ほぼ同じ意味になるように適する語を書きなさい。
Let’s play tennis this afternoon.
＝　　　　　　 　　　　　　 play tennis this afternoon?

＝　　　　　　 　　　　　　 playing tennis this afternoon?　　★

＝　　　　　　 　　　　　　 we play tennis this afternoon?　　★


次の各文が本文の内容と合っていればTを，合っていなければFを書きなさい。

(a)  All living things belong to a food chain.
（　　　）
(b)  One scientist says that 300 trout requires 90,000 frogs. 
（　　　）

(c)  Humans must consume grasshoppers to keep a food chain stable.
（　　　）
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